
In ∆𝑳𝑴𝑵, 𝑳𝑴 = 𝟓 𝟐 𝒄𝒎, 𝑳𝑵 =
𝟏𝟑 𝒄𝒎 and ∠𝑳𝑴𝑵 = 𝟏𝟑𝟓°. What 
is the length (in 𝒄𝒎) of 𝑴𝑵?

∆𝑳𝑴𝑵  में, 𝑳𝑴 = 𝟓 𝟐 𝒄𝒎, 𝑳𝑵 =
𝟏𝟑 𝒄𝒎 और ∠𝑳𝑴𝑵 = 𝟏𝟑𝟓°  हैं|
𝑴𝑵 की लंबाई (𝒄𝒎 में) ककतनी है?
a) 𝟕 𝟐   b) 8  

c) 7  d) 𝟖 𝟐

SSC CGL T2, 29 Jan 2022
1PG (pytha) 
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In ∆𝑷𝑸𝑹, ∠𝑷𝑸𝑹 = 𝟏𝟑𝟓°, 𝑷𝑸 = 𝟖 𝟐𝒄𝒎
and 𝑷𝑹 = 𝟏𝟕𝒄𝒎. What is the length (in cm)
of 𝑸𝑹?
∆𝑷𝑸𝑹 में, ∠𝑷𝑸𝑹 = 𝟏𝟑𝟓° है, 𝑷𝑸 =

𝟖 𝟐𝒄𝒎 और 𝑷𝑹 = 𝟏𝟕𝒄𝒎 है | 𝑸𝑹 की
लम्बाई (cm में ) ज्ञात करें |
a) 𝟕  b) 𝟏𝟎  c) 𝟖  d) 𝟗

SSC CHSL,19 Apr 2021 S2
3PG (pytha) 



The length of three sides of a 
right-angled triangle are 𝒙 −
𝟐 𝒄𝒎 , 𝒙 𝒄𝒎  and 𝒙 + 𝟐 𝒄𝒎 
respectively. Then the value of 
𝒙 is
ककसी समकोण त्रिभजु की तीनों
भजुाएं क्रमवार 𝒙 − 𝟐 𝒄𝒎, 𝒙 𝒄𝒎 
और 𝒙 + 𝟐 𝒄𝒎 हैं तो 𝒙 का मान
ज्ञात करें|
a) 10         b) 8         c) 4         d) 6

4PG (pytha) 
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The lengths of the three sides of  a 
right-angled triangle are 𝒙 − 𝟏  𝒄𝒎,
𝒙 + 𝟏  𝒄𝒎 and 𝒙 + 𝟑  𝒄𝒎 , 

respectively. The hypotenuse of  the 
right-angled triangle (𝒊𝒏 𝒄𝒎 ) is :
एक समकोण त्रिभजु की तीनों भजुाओं
की लम्बाई क्रमशः 𝒙 − 𝟏 𝒄𝒎,
𝒙 + 𝟏 𝒄𝒎 और 𝒙 + 𝟑 𝒄𝒎 है|

समकोण त्रिभजु के कणण की लम्बाई
(𝒄𝒎 में) ककतनी होगी?
a) 𝟔  b) 𝟏𝟎  
c) 𝟏𝟐  d) 𝟕 

SSC CGL T1, 11 Apr 2022 S1 PG (pytha) 
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𝑨𝑩𝑪  is a right-angled triangle 
such that 𝑨𝑩 = 𝒂 − 𝒃, 𝑩𝑪 = 𝒂 
and 𝑪𝑨 = 𝒂 + 𝒃. 𝑫 is a point on 
𝑩𝑪  such that  𝑩𝑫 = 𝑨𝑩.  The 
ratio of 𝑩𝑫: 𝑫𝑪 for any value of a 
and b is given by
ABC एक समकोण त्रिभजु इस
प्रकार है कक 𝑨𝑩 = 𝒂 − 𝒃, 𝑩𝑪 = 𝒂 
और 𝑪𝑨 = 𝒂 + 𝒃 है| त्रबदंु 𝑫
भजुा’ 𝑩𝑪  पर इस प्रकार है कक  
𝑩𝑫 = 𝑨𝑩 है| a और b के ककसी
मान के ललए 𝑩𝑫: 𝑫𝑪 का अनपुात
क्या होगा?
a) 3:2  b) 4:3  
c) 5:4  d) 3:1 

CDS 2013 IPG (pytha) 
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Pythagorean triplets basic format:
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Pythagoras-cousin theorem:



The sides of a triangle are in 
ratio 3 : 4 : 6. The triangle is
a) Acute angled  
b) Right angled
c) Obtuse angled  
d) Equilateral
ककसी त्रिभजु की भजुाओं की
लम्बाई 3:4:6 के अनपुात में
है| तो वह त्रिभजु है:
a) न्यनू कोण  
b) सम कोण
c) अधिक कोण  
d) समबाहु

10PG (pytha) 



The angles of a triangle are in 
the ratio 𝟑: 𝟒: 𝟓. the triangle is
a) Obtuse angled triangle 
b) Right angled triangle
c) Acute angled triangle
d) Isosceles angled triangle
एक त्रिभजु के कोण 𝟑: 𝟒: 𝟓 के
अनपुात में है| त्रिभजु है: 
a) अधिककोण त्रिभजु
b) समकोण त्रिभजु
c) न्यनूकोण त्रिभजु
d) समद्ववबाहु कोण त्रिभजु

11
SSC CHSL  15 Oct  2020 S2PG (pytha) 
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Range of length of third side:



14
SSC CHSL, 3 June 2022 S3

Which of the following options does NOT 
give the lengths of three sides of any 
triangle?
ननम्नललखित में से कौन सा ववकल्प ककसी
त्रिभजु की तीन भजुाओं की लंबाई नह ं देता
है?
a) 𝟏𝟐, 𝟏𝟖, 𝟐𝟓  b)  𝟒, 𝟕, 𝟗
c) 𝟏𝟖, 𝟐𝟑, 𝟒𝟏  c) 𝟕, 𝟏𝟎, 𝟏𝟐

PG (3rd side) c



Two sides of a triangle are 3 
cm and 8 cm. Which of the 
following cannot be the length 
of the third side
ककसी त्रिभजु की दो भजुाये 3
cm और 8 cm हैं| ननम्न में से
कौनसी तीसर भजुा की लम्बाई
नह ं हो सकती?
i) 9  ii) 10  
iii) 5  iv) 8  
v) 12
a) i) and iii) b) Only iii)    
c) Only v) d) iii) and v)

15PG (3rd side) d



Two sides of a triangle are 4 cm and 7 
cm. If perimeter of this triangle is 
denoted by 𝒑 then
ककसी त्रिभजु की दो भजुाये 4cm और
7cm हैं| अगर इस त्रिभजु के पररमाप
को p से दशाणया जाए तो :
a) 𝟏𝟓 ≤ 𝒑 ≤ 𝟐𝟏     b) 𝟏𝟒 ≤ 𝒑 ≤ 𝟐𝟐 
c) 𝟏𝟒 < 𝒑 < 𝟐𝟐 d) 𝟏𝟓 < 𝒑 < 𝟐𝟏

16PG (3rd side) c



In isosceles triangle △FGH,  
𝑭𝑮 < 𝟑𝒄𝒎 and 𝑮𝑯 =
𝟖𝒄𝒎 . Then the correct 
relation is,
ककसी त्रिभजु 𝑭𝑮𝑯 में 𝑭𝑮 <
 𝟑 𝒄𝒎 और 𝑮𝑯 = 𝟖 𝒄𝒎. तो
सह सम्बन्ि बताएं|
a) GH=FH b) GH<FH 
c) GF=GH d) FH>GH

17
SSC CGL T1,  27 Apr 2014PG (3rd side) a



Consider obtuse-angled 
triangles with sides 8 cm, 
𝟏𝟓 𝒄𝒎 and 𝒙 𝒄𝒎. if 𝒙 is an 
integer then how many 
such triangles exist?
एक अधिककोण त्रिभजु की
भजुाओं की लम्बाई 8 cm, 
𝟏𝟓 𝒄𝒎 और 𝒙 𝒄𝒎 है| अगर
𝒙 एक पणूाांक है तो इस
तरह के ककतने त्रिभजु
बनाये जा सकते हैं?
a) 5     b) 21  
c) 10     d) 15 e) 14 

18CAT 2008PG (3rd side) c
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The sides of an obtuse 
angled triangle are 11, 
15 and P (integer). How 
many values of ‘P’ are 
possible?
11, 15 व P (पणूाांक
संख्या) अधिक कोण
त्रिभजु की भजुाये हैं| P
के ककतने मान संभव है|
a) 7 b) 12  
c) 13 d) 14

PG (3rd side) c
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𝒙, 𝒚, 𝒛 are integer that are 
side of an obtuse-angled 
triangle. If 𝒙𝒚 =  𝟒, find 𝒛.
𝒙, 𝒚, 𝒛 पणूाांक हैं जो एक 
अधिक कोण त्रिभजु की
भजुा हैं। यदद 𝒙𝒚 =  𝟒 ,
𝒛 =?
a)2 b)3 c)1 d)More 
than one possible value

PG (3rd side) b



If a and b are the lengths of 
two sides of a triangle such 
that the product 𝒂𝒃 =  𝟐𝟒, 
where a and b are integers, 
the how many such triangles 
are possible?
यदद ककसी त्रिभजु की दो
भजुाओं की लंबाई a और b
इस प्रकार है कक गुणनफल
𝒂𝒃 =  𝟐𝟒 है, जहां a और b
पणूाणक है, तो ऐसे संभाववत
त्रिभजुों की संख्या ज्ञात करें|
a) 15  b) 12  
c) 18  d) 16

SSC CHSL,12 Apr 2021 S3
21PG (3rd side) d
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How many isosceles 
triangles with integer 
sides are possible such 
that sum of two of the 
side is 12?
पणूाांक भजुाओं के साथ
ककतने समद्ववबाहु त्रिकोण
संभव हैं जजसमें दो भजुाओं
का योग 12 है?
a)11  b)16  
c)17  d)18

PG (3rd side) c



How many isosceles 
triangles with integer 
sides are possible such 
that the sum of two of the 
sides is 𝟏𝟔 𝒄𝒎?
पणूाांक भजुओं वाले ऐसे
ककतने समद्ववबाहु त्रिभजु
संभव हैं जजनमें दो भजुाओं
का योग 𝟏𝟔 𝒄𝒎 हो?
a) 18 b) 15
c) 9 d) 24

SSC CHSL, 13 Apr 2021 S3
23PG (3rd side) d
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CGL T1, 5 Dec 2022 S3

The perimeter of a 
triangle with sides of 
integer values is equal 
to 𝟏𝟑. How many such 
triangles are possible?
पणूाणक मानों की भजुाओं
वाले त्रिभजु का पररमाप
𝟏𝟑 के बराबर है| ऐसे
ककतने त्रिभजु बनना
संभव है?
a) 5   b) 8
c) 7   d) 6

PG (3rd side) a
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